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Directions (Q.s. 41 — 45) :Answer the
quiesians that fellow each of the five passage
' based on the information given in the passage.
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| " Tothose wha do listen. the desert speaks
¥ of things with an cmphasis quite different from

lhat of the shore. the mountain. the valley or
l plains. Whereas these invite action and
H sug,gest limitless opportunity and exhaustless
| resources, the implications and the mood of
the desert are something different. For one
| thing. the desert is conscrvative. not radical. It
| is more likely to provide awe than to invite
| conquest. The heroism which it encourages is
the heroism of the éndurance. not that of con-
| quest. [t brings man up against this limitation.
turns him in upen himself'and suggests values
I‘ which more indulgent regions suppress. Some-
times it induccs contemplation in.men who
have never contemplated before. And of all
the answers to the gucstion—what is a desert
| goud for—“contemplation” is perhaps the best.
In order to receive the desert's message.
the beholder needs 10 be—
{A) Courageous in his reaction
(B) Conservative in his responses
(C) A good listener
(D) Sensitive to pature
The dese 1 is unique among Jandscapes
in that it encourages only—
(A) Contemplation -
(B) Indolence
(C) Heroic endeavour
.. (D) Adventurous spirit
43. If one responds wilh insight 10 the moad
of the desert. 1t evokes—
(A) Aninclination for decp thougha
(B) The possibility of sacadans
resources
(C) The desire for hereic congeess
(D)

s
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